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Answer the following questions:-

(1) If "C, :"P; = - then | r-3=

(a) zero (b)1

(2) The last term in the expansion of (2 — x)° (2 + x)® according to the ascending

power of x is ...
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(3) The length of the perpendicular drawn from point (1, -3, 4) to the x- axis equals
length unit.

(b) 3 (c) 4

(4) The measure of the acute angle between the two vectors (0,-b,b),(b ,-b,0)
° wherebisaconstant # 0

(b) 45 (c)60
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Answer one of the following items:

12
In the expansion of (x2 + i) according to the descending power of x .

(a) Find the ratio between the term free of x and the coefficient of the eighth term.

(b) Find the ratio between the coefficient of the middle term and the coefficient of the

(6) Find the principle amplitude of the complex number z
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1 W+

(7) The value of: ( o 2:
1+wi 1+w*ei

(8) Without expanding the determinant,

3x
Solve the following equation : | x
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(9) The number of the solutions of the system: 3x+2y=4 ,2x+3y=6is

(a) Zero (d) infinite number of solutions
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(11) The volume of the parallelepiped in which three adjacent sides of it are represented by
the vectors A=(0,0,2) ,B=(8,0,0),C=(0,4,0) = cubic unit

(12) Answer one of the following items:
a) Find the different forms of the equation of the straight line passing through the point

(4,-2,5)and the vector (1, -2, 2) is a direction vector of it.

b)IfC=(2,1,-2)and C+B =C % B ,thenfind Il Bl
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(13) The diameter length of the sphere x* + y* + 2* -6x + 4y — 2z =11 equals

(b) 10
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(14) Solve the following systems of equations using the inverse matrix:

2x+z =5,x+y=3,z—y=1
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(15)If the two straight lines % =

(16) If the straight |lne§ =y = _Lj is parallel to the plane x + ky + 2z + k =0, thenk=
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(17) If Zi=1+V3 i , Zo=vZ (cos45° + i sin45°%), Find the exponential form of : (z; = 2,)°

(18) The length of the perpendicular drawn from the point ( 1, -6, 3) to the plane

FO(2,-2,1)=5
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(19) Find the point of intersection of the straight line : x vy = z and the plane:

FO(1,2,3)=12
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